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CHAPTER IV

RESEARCH FINDING AND DISCUSSION

A. Research Findings
As it has been mentioned previously, the researcher wanted to know whether there was different result between the eighth grade students who were taught using two stay two stray technique and who were taught without using two stay two stay technique in teaching reading comprehension.
1. For the Control Group (I Class)

The mean of pre test and post test from control group was as follows:

Pre test

= 1510 : 30 = 50.33 

(Look at appendix 1)
Post test
= 1760 : 30 = 58.67
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= 1900 – 963.33

= 936.67
The deviation score between pre-test and post-test for control group (I Class) is 936.67. Here, deviation is a reflection of the average deviation from the mean of data.
2. For the Experimental Group (J Class)

The mean of pre test and post test from experimental group was as follows:

Pre test

= 1680 : 30 = 56 

(Look at appendix 2)
Post test
= 2560 : 30 = 85.33
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= 23800 - 20280

= 3520
The deviation score between pre-test and post-test for control group (J Class) is 3520. Here, deviation is a reflection of the average deviation from the mean of data.
3. Identifying T-test score (to)
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= 8.76

db = (Nx + Ny - 2) = (30 + 30 - 2) = 58

T count = 8.76

T table = 2.00
With level significant 0,05

So, T count (8.76) > T table (2.00)
Based on the statistical analysis using T-test, it shows that t-table = 2.00 and t-count = 8.76 ) (t count > t table). Therefore, the Ho (Null Hypothesis) is rejected, on the other hand Ha (Alternative Hypothesis) is received. It can be concluded that there was a significant effect of using Two Stay Two Stray technique in Teaching Reading Comprehension of Second Year Students in SMP N 1 Sumbergempol in Academic Year 2012/2013.
B. Interpretation 
Based on the data analysis above, the statistical value of t-test was 8.76, while the critical value of t-test with degree of freedom was 58 and the significant level 5% was 2.00 it is showed that the statistical value of t count (8.76) was higher that the critical value of t table (2.00). It means that the alternative hypothesis was accepted and the null hypothesis was rejected. It can be concluded that there was a significance effect of using two stay two stray in teaching reading comprehension of second year students in SMP N 1 Sumbergempol in academic year 2012/2013. In other words, the students’ score of the students who were taught by using two stay two stray technique was better than those who were taught without using two stay two stray technique.
The conclusion was using two stay two stray as the technique of teaching reading comprehension was effective in teaching reading comprehension with the relative degree of effectiveness 95%. Besides that, teaching by using Two Stay Two Stray technique makes the students to be active.
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